INSTALLATION
INSTRUCTION

FA00. F500

Flexi Full Motion Wall Mount

Fits most TV size:42"~55"
Max Load:20~55 Ibs (9.0~25 kg)
VESA:100x100~400x400mm

nt. com

ification or alteration without formal notice.






4001055905 A2

NORTH BAYOU
Flexi Full Motion Wall Mount

F400

Fits most TV size:42"~55"
Max Load:20~55 Ibs (9~25kg)
VESA:100x100~400 x 400mm

Fits most TV size:42"~55"
Max Load:20~55 Ibs (9~25kg)
VESA:100x100~400 x400mm

Severe personal injury and property damage can result from improper installation or assembly.
Read the following warning carefully before beginning.

@ Products must be installed by professional or installer.

@ If you do not understand the instructions or have any concerns or questions, please
contact a qualified local installer.

@ Do not install or assemble if the product or hardware is damaged or missing, if you
require replacement parts, please contact you local distributor for assistance.

@ This product fits most 42"-55" LCD / monitor; maximum weight of LCD / monitor:
25kg /55 Ibs.

@ Installer-friendly and straight forward.

@ For safe installation, the wall you are mounting to must support minimum 3 times the
weight of the total load (the mount, the monitor and all accessories weight).

@ Do not use this product for other than the original designed.

@ This product contain moving parts, please use with caution.

@ When installing monitor, please do not damage electrical wiring or power source.

@ Installation and routing of monitor cables on the monitor bracket must comply with
electro-technical regulations.

@ Importantly, mains- and data-cables must be secured against twisting and squeezing or
shearing.

® The ma?\ufacturer will bear no responsibility to the wall / ceiling of mounting, or incidental
or consequential damages arising thereof.

@ The manufacturer disclaims any liability for the modifications, improper installation, or
installation over the specified weight range. The manufacturer will not be liable for any
damages arising out of the use of , or inability to use, the product.

@ This product is designed for indoor used only, use of this product outdoor could lead to
product failer and severe personal injury.

A This product contains a high pressure gas spring, fire and percussion prohibited. Also it is
strictly prohibited to dismantle without professionals. Please return to the manufacturer or
hand over to professional agencies if the product is abandoned. In order to ensure the
performance of gas spring, full direction adjustment of the product arm is recommended
several times per month.

www. nbavmount. com

We reserve the right to modify or alter instructions. No modification or alteration without formal notice

111



Installation manual

F400. F500

Symbols

Tightening Direction

R

+:Torque increased

ERIEHIK

loosening Direction

—:Torque reduced

Q= e
—
O T \ 2 =8 AR
W Phillips Screwdriver By Hand
) BT FI
@ Open-End Wrench ﬂ Hex Wrench
% FO®RF ® NEARTF
Adjustment Pencil
‘%’ e f o
Optional Hand Drill
OPT Tik ﬁ FaH
Remove Star Wrench
x [EZin j RERTF

-

\_
4
4

~N

J

\\
N

2/11



Installation manual F400. F500

Part list

(M6x12)-4pcs

A- @ (M6) -4pcs G- @ -1pcs
B- Omm (M6x25)-4pcs H - s (M7x80)-3pcs
C- Ommm (M8x25)-4pcs H- © (©16x®8.2x1.5mm)-3pcs

D- @ (P17x®8.2x12mm)-4pcs  [. cupmw (UX10x60mm)-3pcs

E- © ($13.5x6.2x1.5mm)-2pcs | _ h._ (6mm) -1pcs
E- Qm (M6x10)-2pcs

F400. F500
Installation Manual

Install flexi mount into masonry or solid concrete
or
Install flexi mount into wood stud.

3/11



Installation manual

F400. F500

A1, Install flexi mountinto masonry or

solid concrete

-

IIIII‘

N
@

\

\ \

| Step1|




Installation manual F400. F500

A2. Install flexi mountinto wood stud

[ |Step1|

S

N

j

I




Installation manual F400. F500

B. TVinstallation
VESA :100x100,200x 100mm,200x200mm

4 | Step1| )

6/11



Installation manual F400. F500

VESA :300x200mm,300%x 300mm,400x200mm,400 x 400mm

4 | Step1| )

711



Installation manual F400. F500

8/11



Installation manual F400. F500

D. Setting static position
+ :Torque increased, — :Torque reduced.

7

“\‘

=

y

e

\

E. Setting tilt angle position
( )

-5° +15°




Installation manual F400. F500

Full motion after full installation

180°
&

i




Installation manual F400. F500

Warning!

AN

Add:58, South of Xinxing Road,
Economic Development Zone.

Kunshan City, Jiangsu Province, China.
215333.

NORTH BAYOU

www.nbavmount.com TEL: 86-512-57971777
FAX: 86-512-57970776

11/11






4001055905 A2

NORTH BAYOU
EEBRZRIELRKITLY

F400
iEMH T BUL42"~55"
& EEE:20~55 Ibs (9~25kg)
& & BVESAFLAL:
100x100~400 x 400mm

EATFEHRA42"~55"
AEEE:20~551bs (9~25kg)
&S HVESATLI:
100x100~400x400mm

ZE MRAKULERY, XTRSBAREN. RURY~RBK HEEHELR

AT, EFAHETIESER.

® LM EWARRE” R,

© UNRETEBIAPREBEEEEOI S A, ESRERRNLMREARKR,

O MR RREMHZRIGE, BAEARIRE, WREFESRTHIHM, F
BRLE K3 B0 2 65 7 DURERAE B o

O it /= biE F42"'-55" R R B REE/EE TR, RAKETEBIIT25 kg/55Ibs,

o LREAFHEEA, HEa. HE. §iE. SFH.

O HERREREATRESGNEEMRIEE T LA HNMEERERE. BERER
HEEH),

® KT ARG R BB R & AT E AR

O it R BB N T REFNEH,

® LIRS, HEREFREATEWRIT,

O REMBUBLNER B RE LNXRLAFEBRAEM,

OEEMNR, BRMEIEBRLTREHABIERLERI.

® | B BT A RER S EIME A E B FR O HIR AT

©® | B7E It A5 B3, 3 F DUT R FTE AL B R SR SR 5 AR B AR R MR B T®
8 REA Y, AT 7 5 A B M B AR E, S S 2, S B s A L
bR BT

AXFRASHESEE, iRk, EAIRPmEAENRE, REELALH
BRT, PEREHFMB E-GREEFOR X FEUNMLE, HRIESHE
e, BWENAFRNTFES RIS ANETRIAT,

www. nbavmount. com
EXRTENDFRTRAS, HEFRADERBON, HFRBEXROEERERN.

111



3 it B8

F400. F500

i EA

Tightening Direction

IR

+:Torque increased

EREHIAR

loosening Direction

—:Torque reduced

@) . 4
O e
R T ) TE S AE RN
W Phillips Screwdriver By Hand
G5 BuRT FT
@ Open-End Wrench /\1 Hex Wrench
% FO/RTF Q NARTF
Adjustment Pencil
4%’ B f @
Optional Hand Drill
OPT o é@ FEH
Remove Star Wrench
x %I j ZERF

\_
N\ [
4

2/11



% % 3t B F400. F500

(p (M6x12)-4pcs

A- @ (M6) -4pcs
B- CmBD (M6x25)-4pcs
C- (D (M8x25)-4pcs

D- (S (®17x®8.2x12mm)-4pcs  [. cgme (UX10x60mm)-3pcs

- @ -1pcs

- B (M7x80)-3pcs

I I ®

S (©16x$8.2x1.5mm)-3pcs

E- & (913.5x$6.2x1.5mm)-2pcs - IJ_ (6mm) -1pcs
E- @m (M6x10)-2pcs

F400. F300
HRE5RZFKIHNA
XRREFEN R

A1 8. RELTIEREAZE
A2: *Fﬁi%ﬁiﬁo

/N mrmmnmmnsEzs

3/11



Er R L F400. F500
Al, REBEUETHEIRITG, BELEL
4 (r®1] N\

R
7
L

IIIII‘
\

\

ANAY




%3 i B8 F400. F500
A2, REBEIETHEIRIAKNEL

|iﬂ§é1|




% % 3t B F400. F500

B, REBUHNBZIRE
VESAZL£Z : 100x100,200x100mm,200 x 200mm

( IEEXN) )




% % 3t B F400. F500

VESAZL{Z : 300 x 200mm,300 x 300mm,400x200mm,
400 x400mm

711



% % 3t B F400. F500

8/11



% % 3t B F400. F500

D. IREHESAY
+ ¥EAMK, - FEHRI

&r
Ny

>

e

\

E. Rl A EMKkEHRER
(" )

-5° +15°

of




g b F400. F500
RERBAXRTAMNER

B -5° /+15°

310mm

310mm

180° 360°

<




F400. F500

NORTH BAYOU

www.nbavmount.com

BUBREFHRAS

Hpit: P ETHE RUTEFRAF LK
2 f 5585

E4s: 215333

TEL: 86-512-57971777
FAX: 86-512-57970776

11/11









TENSION ADJUSTMENT
AFTER WALL MOUNT INSTALLATION

/1\

Do not adjust tension without putting on TV assembly
1. Ensure TV assembly has been put onto wall mount.
2. Read your TV packaging or manual to find out TV net weight.

3. Ensure TV net weight between 19.8-55 |Ibs(9-25kg).

Adjustment sign

N

Clockwise to increase Anti-clock reduce
tension(more weight) tension(less weight)



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28

